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1. Sonam purchased two pencils and three erasers for Rs.9. Gita purchased one pencil and two erasers for Rs.5 from shop. Find the cost of one pencil and one eraser?
2. John purchased 2 tables and 12 chairs for Rs.6800. Ram purchased 3 tables and 15 chairs for Rs.9000.find the cost of each table and chair?
3. Meena went to a bank to withdraw Rs.2000. she asked the cashier to give Rs.50 and Rs.100 notes only. Meena got 25 notes in all. Find how many notes of Rs.50 and Rs.100 she received?
4. The sum of 2 numbers is 18 and their product is 45. Find the numbers?

5. Two numbers differ by 4 and their product is 192. Find the numbers?
6. Two numbers differ by 3 and their product is 54. Find the numbers?

7. The sum of two numbers is 18. Sum of their reciprocals is ¼ . Find the numbers?
8. The sum of two numbers is 15. Sum of their reciprocals is 3/10. Find the numbers?

9. Two numbers are in the ratio of 3:5. If 5 is subtracted from each of the number, they become in the ratio of 1:2. Find the numbers?
10. Two numbers are in the ratio of 3:4. If 8 is added to each of the number, they become in the ratio of 4:5. Find the numbers?
11. Five years hence, the age of Jacob will be 3 times that of his son. Five years ago, Jacobs age was 7 times that of his son. What are their present ages?
12. 10 years ago, father was 12 times as old as his son and 10 years hence, he will be twice old as his son. Find their present ages?

13. The sum of two digit number and the number obtained by reversing the digits is 132. If 12is added to the number, the new number becomes 5 times the sum of the digits. Find the number?

14.  The sum of two digit number and the number obtained by reversing the digits is 110. If 10 is subtracted from the number, the new number becomes 4 more than 5 times the sum of the digits in the first number. Find the number?
15. A two digit number is 4 times the sum of its digits. If 18 is added to the number, the digits are reversed. Find the number?
16. The sum of the digits of a two digit number is 9. If 27 is subtracted from the number, the digits are reversed. Find the number?
17. The sum of a two digit number and the number obtained by reversing the digits is 88. If difference of the digits is 2. Find the number?

18. A fraction becomes 4/5 if 1 is added to both numerator and denominator. If is subtracted from both numerator and denominator, the fraction becomes ½. What is the fraction?
19. If 2 is added to the numerator of a fraction it reduces to ½. And if 1 is subtracted from the denominator, it reduces to 1/3. Find the fraction?
20. A lending library has a fixed charge for first three days and an additional charge for each thereafter.  Sarika paid Rs.27 for a book kept for 7 days. While Susheela paid Rs.21 for the book she kept for 5 days. What are the fixed charges and the charge for each extra day?

21. A taxi charges consists of fixed charges and the remaining depending upon the distance travelled in km. if a person travels 10 km he pays Rs.68 and for 15 km he pays Rs.98. Find the fixed charges and charge per km?

22. Two places A and B are 120km apart from each other on a highway. One car starts from A and Other car starts from B at the same time. If they move in same direction they meet in 6 hrs. If they move in opposite direction they meet in 1 hr and 12 min. Find the speed of the cars?
23. A train makes a run of 240 km at a certain speed. If it travels 12 kmph less speed it takes 1 hour longer to cover the same distance. Find the speed of the train?
24. A man travels 370 km partly by train and partly by car. If covers 250 km by train and rest by car in 4 hr. If he travels 130 km by train and rest by car he takes 18 min longer. Find the speed of the train and car?

25.  A boat goes 12 km upstream and and 40 km downstream in 8 hr. it can go 16 km upstream and 32 km downstream in the same time. Find the speed of the boat in still water and speed of the stream?

26.  The length of a rectangle exceeds its width by 8 cm and the area of the rectangle is 240 sq.cm. Find the dimensions of the rectangle?

27. The area of rectangle gets reduced by 8 sq m, if its length is reduced by 5 m and width increased by 3 m. If we increase length by 3 m and breadth by 2 m, the area increased by 74 sq m. Find the length and breadth of the rectangle?

28.  8 men and 12 women can do a piece of work in 10 days. While 6 men and 8 women can do the same work in 14 days. Find the time taken by one man and one women?
29. Two pipes running together can fill a cistern in 6 min. if one pipe takes 5 min more than the other to fill cistern, find time taken by each pipe to fill the cistern?
30. Solve graphically a) 2x – 3y =2 and x+2y=8 
b) 2x+y=8 and 3x-2y=8
31. Find the value of k for which the following system of linear equations has no solution x+2y=3 and      (k-1)x + (k+1)y = k+2?
32. Find the value of k for which the following system of linear equations has no solution 2x+ky=1 and      3x-5y=7?

33. Find the value of k for which the following system of linear equations has infinity number of solutions      (k-1)x + 3y = 7 and (k+1)x + 6y = 5k—1?
34. Solve the system of equation  8/x  + 5/y = 9 and 3/x  + 2/y = 4.  (x≠0 and y≠0)
35. Solve the system of equation 5/x+y  -- 2/x-y  = -1  and  15/x+y  + 7/x-y  = 10  (x+y≠0 and x-y≠0)
1 | Page

